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CHILD DEVELOPMENT AND PEDAGOGY

Identify the correct statement
with regard to the growth and

development.

(1) Growth is the part of
development.

(2) Growth starts from
conception and continues til]
death.

(3) Development starts from
birth and stops at certain age.

(4) Development and growth are
no way related to each other
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No autonomy is granted under
this child rearing practice.

(1)  Uninvolved

(2) Autocratic

(3) Authoritative

(4) Permissive «
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3.

Symbolic and Ego-centric thinking

are the major characteristics of ...
(1) Concrete operational stage

(2) Sensori motor stage

(3) Pre-operational stage
(4)  Formal-operational stage
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The unfolding of biologically

inherited potentialities as a
function of time or in an age
related sequence is called .

(1) Maturation ,

(2) Progress

(3) Development
(4) Growth
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“Mnemonics”

are used in
improving .....
(1) Understanding
(2) Memory
(3) Intelligence
(4) Creativity
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One of the following need to be

considered for organising learner
centric teaching learning process.

(1) Study habits

(2) Achievement motivation

(3) Individual differences

(4) Only aptitude
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According to Bandura,
“observational learning” is .....
(1) Sequencing

(2) Structuring

(3) Shaping

(4) Modelling
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If a student is given reward for

every correct response for every
five minutes, the reinforcement
schedule is .....

(1) Fixed Ratio ,
(2) Variable

(3) Continuous

(4)
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10.

As per the RTE Act, 2009 a school

with classes I to V shall have Head
Teacher, if the student’s strength
of the school is

.....

(1) 125-149
(2) 150 & above
(3) 75-99

(4) 100-124
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In PWD. Act, 1995 the term
‘PW.D.’ stands for
(1)

Persons with Difficulty.

(2)  Persons with Disability.

(3)  Population with Disability.

(4) Population with
Disadvantages.
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One of the merits of organising
learning in heterogenous ability
groups is ....

(1) High ability group benefit
and low ability group suffer.
Both high and low ability
groups suffer.

Both high and low ability
groups benefit.

Low ability group benefit
and high ability group suffer.
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NCF-2005 suggested to shift
learning within the four walls of
the class room to this ....

(1) Grade oriented learning.

(2) Learning related to
monetary gains.

(3) Learning in the wider
society context.

(4) Learning is based on books.

NCF-2005, VPRI BUKS KO
Tl e Sopdm Toy, 823
WPTPON SR,

(1) @ esce0® TR

(2) ©OS oo Sowols SYPIIC -
(B) 7o Troiol Bokly eyissive

(4) JDIsros AU



BOOKLET

13. Match the following. 14. If you were a primary school
A B teacher, you would try to nurture
1. Dyslexia a. Difficulty in L A e

(1) children with high
achievement only.

(2) obedient children only.

(3) all children.

(4) intelligent children only.
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mathematics.

2. Dyscalculia b. Difficulty with
fine motor skills.

3. Dysgraphia ¢. Difficulty in
reading.

4. Dyspraxia d. Difficulty with

writing.
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15. The term ‘neonate’ refers to .....
1 aoosour a. redes® 35, (1) Twoyear old child
2. AOTOHOAE b, RS Bed (2)  Baby in mother’s womb
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S 5 S0, (3) New born chi

(4) One year old child
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One of the following do not

facilitate maximum transfer of
learning.

(1) By learning principles, rules
and generalisations.

(@) By learning through rote
memorisation.

(3)  Linking the present with

past learning.
Linking the present with life
experiences.
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Students formulate hypothesis,

test hypothesis and
conclusions in this method.
(1) Lecture method

draw

(2)  Group Discussion
(3) Inquiry method
(4)  Activity method
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18. “Rewards can be an effective tool

19.

to enhance achievement.” - It
indicates this type of motivation.
(1) Natural

(2) Intrinsic

(3) Extrinsic

(4) Achievement
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Ramu has dropped out from the

school due to unpleasant school
experiences. This s an
illustration of the following law.
(1) Law of regression

(2) Law of spontaneous recovery
(3) Law of extinction

(4) Law of effect
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20. According to Erickson, the period

21.
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of adolescence is marked with this
Crisis ....

(1) Intimacy Vs Isolation
(2) Identity Vs Role confusion

(3) Initiative Vs Guilt
(4) Trust Vs Mistrust

J05ES @e Turto T: wefiyios’
SPEESSA.

(1) [Inerdde Vs Dsvedo

(2) oo 0 Vs SelNS .

(B) s Vs wdoese

(4) ESRULS Vs c;;;;o&s:o

The story of ‘fox and sour grapes’
is an example of .....
(1) Repression -

(2) Regression

(3) Rationalization

(4) Reaction formation
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22. To
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study the developmental

patterns of the primary school
children, a psychologist has
choosen the students of classes I
to V of a mandal and conducted
the study in a year. The research
method  adopted by the
psychologist is ....

(1) Developmental study

(2) Case study

(3) Cross sectional study

(4) Longitudinal study
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According to Kohlberg, child’s
morality is controlled by the ‘fear
of punishment’ at this stage .....
(1) Stage 3

(2) Stage 4

(3) Stage 1

(4) Stage 2
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24. Learning is a process of bringing
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relatively permanent changes in
behaviour through .....

(1) Growth

(2) Memory
(3)
(4) Maturation
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According to Vygotsky, the aim of
private speech is for the .....

(1) Ego-centric development of
children.

(2) Self-guidance of children.

(3)  Self realization of children.

(4) Direction of parents to

children.
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26. Cephalocaudal

27.
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development

indicates that the development
proceeds from .....

(1) Umbilic to head

(2) Toe to umbilic

(3) Head to toe

(4) Centre to other parts
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Programmed learning is based on
following theory.

(1) Observational learning
theory.

(2)

Trial and Error learning
theory.

(3) Classical conditioning theory.
(4) Operant conditioning theory.
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28. One of the following is not a

purpose of formative assessment.

(1) Feedback to the parents
about their  children’s

studies.

(2) Certification of completion

of a course of study.

(8) Feedback to the learners
about their participation,

understanding, etc.

Feedback to the teachers
about their teaching.

(4)
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29. As per NCF-2005, medium of

30.

MA = CA soxis 1.Q. =
ey

learning in schools is
(1) English

(2) Hindi/ Sanskrit -
(3) Home language

(4) Multilingual
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PART - III
ENGLISH (Language - I1)

61-65. Read the Passage carefully.

Being overweight is perhaps the
biggest single health problem among
middle-income groups all over the
world. On an average, over 50 percent
of the adults in the developed countries
of the world are overweight.

There is a close relationship
between the amount of food eaten,
specially starchy, sugary and fatty food,
and obesity. Being overweight is not
normally a question of glands or
heredity. It is almost entirely a question
of eating too much of the wrong type of
food.

Obesity begins from the time one
is a baby. Most parents love a fat
chubby baby, with the result that they
grossly overfeed their children. So the
risk of a Coronary attack begins from
childhood. The chubby child whom
many parents are so proud of, becomes
a heart case later on in his life. The
eating habits formed in childhood
continue for the rest of one’s life, with
the result that by the time the infant
has reached the age of 15, he is well on
the way to having a weight problem
when he becomes an adult.
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Surprisingly, even a small amount
of excess food can make one put on
weight. It is a matter of simple
arithmetic movement and exercise take
off weight. If the calories coming in by
way of food are in excess of the calories
going out by way of movement and
exercise, the calories become stored in
our body as fat; and obesity begins.
Even if a little excess mounts up and in
the course of time the result
substantial overweight.

Obesity is also a matter of one’s
luck and metabolism. Some people eat
and drink enormous quantities of
calories and yet never put on weight.
Their bodies seem to burn up these
calories. Yet, there are other people,
unfortunately the majority, who, even if
they eat a little excess food, have an
increase in weight.

is

No matter how hard you exercise,
you will never bring down your weight
substantially by exercising alone. You
must jog for a mile or walk hard for
four miles to be able to eliminate the
effect of only one slice of bread. This
gives you an idea of what little effect
exercise can have for bringing down
weight.

[16]



Now answer the following

questions choosing the right options.

61.

62.

63.

TET-111-EM/TM

The calories become stored in our
body as fat when

(1) a small amount of excess
food is eliminated from our
body.

(2) movement and exercise are
more.

(3) intake calories are more
than the outgoing calories,

(4)  outgoing calories are more
than the intake calories.

Who are lucky according to the

passage ?

(1) Those who eat well but do
not put on weight.

(2) Those whose bodies do not
burn up calories.

(3) Those who eat little but put
on weight.

(4) Those who eat excess and
put on weight.

The only way in which one can
reduce weight effectively is ...

(1)  to jog for a mile weekly once.

2) to jog / walk  briskly
everyday.

(3) to control one’s food alone.
(4) by exercise alone.

BOOKLET @

64. Which of the following statements

65.

[17]

is true ?

(1) Only the people of developed
countries are overweight.

(2) The biggest health problem
that the middle-income
groups perhaps face is being
overweight.

(3) Only the people of middle-
income group suffer from

obesity.

(4)  About 50% of the middle-
income group are
overweight.

Most parents over-feed their
children because .

(1) they want to protect their
children from the risk of
heart attacks.

(2) they want to be more caring.

(3) they want their children to
be healthy.

(4) they want their children to
be chubby.

PT.O.



66.

67.

TET-111-EM/TM

Identify the sentence in which the
order of the adjectives is correct.

(1) Mrs. Lalita has a huge good
round black leather bag.

(2) Mrs. Lalita has a round
black huge good leather bag.

(3) Mrs. Lalita has a good huge
black round leather bag.

(4) Mrs. Lalita has a good huge
round black leather bag.

He was negligent and therefore
the company suffered heavy
losses.

The sentence can also be
written as .....

(1) Though he was negligent,
the company suffered heavy
losses.

(2)  On account of his negligence,
the company suffered heavy
losses.

(3) He being negligent, the
company suffered heavy
losses.

(4) Inspite of his negligence, the
company suffered heavy
losses.

BOOKLET @

68. The detective story engrossed the

69.

[18]

readers all the way to the surprise

ending. The underlined word

means ....

(1) encouraged to
whole story.

(2) divided attention.
(3) caused excitement due to
suspense in the story.

(4) created interest in such a
manner that you forget

yourself.

read the

Read the following jumbled

sentences, PQ, R, S & T.

(P) “I have something to tell

you,” said the Rabbit.

A Whale swam over to see

who was calling her and

looked around.

(R) “You are too small and weak
to say anything to me,” said
the Whale and set off back
into the ocean.

(S) After a few minutes, she saw
a tiny Rabbit jumping up
and down on a cliff.

(T) “Rabbit, did you just call me
over here ?” said the Whale
impatiently.

Now identify the right order

of the sentences to make a

meaningful paragraph.

(1) TS QR,P

2y . EQS,BRT

3 QTS BR

4 QS,TEPR

Q)



70. Ram says to Sita, “I like laddus.”

The reported form of the above
sentence is ....

(1) Ram said to Sita that he

would like laddus,

(2)  Ram tells Sita that he likes
laddus.

(8) Ram told Sita that he will
like laddus.

(4) Ram said Sita that he likes
laddus.

71. The number of voiceless sounds
present in the word,
“Pronunciation” IS .....

(1) four

(2) five

(3) two

(4) three

72. The technique of ‘scanning’ ig
used while ...

(1) reading the title to
anticipate the content of the
article.

(2)  reading for specific
information in the text.

(3) reading headings and sub-
headings to understand the
main points.

(4) looking at the illustrations
to comprehend the main idea
of the text.

TET-III-EM/TM

73.

74.

[19]
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(@ The students have some
knowledge about maths.

(6) This sum from Chapter II is
very difficult.

The underlined words in the
sentences (a) and (b) are called ...

(1) Homophones
(2)  Homonyms
(3) Acronyms
(4) Allophones

Read the following sentences
carefully. Identify the students, in
order starting with the student
who walks to schoo] most often.

(@) Murthy usually walks to
school. He often goes on a

cycle.

(b) Jayaraj never walks to
school. He lives very far
away.

(¢) Satya always walks to
school.

(d) Venkat sometimes walks to
school.

(1) Venkat, Satya, Murthy,
Jayaraj.

(2) Jayaraj, Murthy, Venkat,
Satya.

(3) Satya, Murthy, Venkat,
Jayaraj.

(4) Murthy, Venkat, Jayaraj,
Satya.

PT.O.



BOOKLET @

75-79. The following passage has five | 76. (1) allow
numbered blanks. For each blank

(2) permit
four alternatives are given.
Identify the correct option for (8) forget
each blank. (4) think

“I'll never go back to that
place,” Albert assured him. “I
_(75) this certificate to the head
teacher tomorrow, and that will be (2) writing
the end of it.” “Don’t (76) to get
a reference in _(77) from your

77. (1) written

(3) wrote

mathematics teacher first,” Yuri (4) the write

reminded him. Mr. Koch willingly
gave Albert the reference he

78. (1) any more
wanted. “If I say I can’t teach you

(78) , and probably you’ll soon be (2) some more
able to teaght md, /NUP) . 1" he (3) more and more
asked.

(4) all the more
75. (1) took

(2) take 79. (1) was that all right

(2) should it be all right
(3) would take

(3) will that be all right

(4) am going to take (4) 1is that all right

TET-111-EM/TM [20]



80. The horse galloped away.

81.

82.

83.

TET-111-EM/TM

The underlined word 1S an
adverb of .....

(1) frequency

(2) time
(3) result
(4) place

If it should rain, they will not
come.

Here ‘should’ expresses .....
(1) the necessity.

(2) acommand.

(3) a supposition.

(4) an obligation.

Tell me how vou found that out.

The underlined part is .....
(1) a Noun clause.

(2) the Main clause.

(38) an Adjective clause.
(4) an Adverb clause.

I was upset by her mistakes, but
I

Complete the sentence
choosing the correct idiomatic
expression.

(1) slipped my tongue.

(2) lashed my tongue.

(3) was on the tip of my tongue.
(4) bit my tongue.

BOOKLET

84. I congratulated him on passing

85.

86.

[21]

the test.

Another form of the above
sentence is .....

(1) I congratulated owing to
passing his test.

(2) I congratulated him until he
had passed the test.

(3) I congratulated him because
he had passed the test.

(4) I congratulated because of
he passing the test.

Identify the
correct question.

(1) How high is Mount Everest ?

(2) What height is Mount
Everest ?

(3) How tall is Mount Everest ?

(4) How much height is Mount
Everest ?

grammatically

(@) I showed to the policeman
my identity card.

() I showed the policeman my
identity card.

Read the sentences (a) and
(b), and then choose the correct
option about them.

(1) Both (a) and (b) are wrong.
(2) Only () is correct.
(3) Only (a) is correct.
(4) Both (a) and () are correct.

PTO



87. A
¢ s

(3)

4)

88.

Text
(1)

(2)

(3)

(4)

TET-111-EM/TM

test is considered ‘Reliable’,

all the students pass in the
test.

students get the same result
when it is conducted again.

it measures what it claims to
measure.

it covers all the items in the
syllabus.

The checklists given in each unit,
at the end,

in the English
books are meant for.

the assessment of pupils by
their parents.

the assessment of pupils by
their Headmaster.

the assessment of pupils by
the teacher,

the self-assessment by the
pupils.

BOOKLET 6

89. Formative assessment is based on

90.

[22]

(1)

(2)

(3)

(4)

four tools. They are ...

Individual performance,
Performance ip Group,
Project work and
Performance in literary
activities.

N otebooks, Slip tests,
Project work and Own
writings.

Observation, N otebooks,

Project work and Slip tests.

Records, Slip tests, Note
books and Performance in
co-curricular activities.

The function-based and task-
centred approach is ...

(1)

(2)
(3)
(4)

The Communicative
approach.

The Situational approach.
The SOS approach.
The Structural approach.



91.

92.

TET-111-EM/TM

PART - IV

BOOKLET

MATHEMATICS - CONTENT

The scale of a map is 1 :30000. If
two cities are 4 cm apart in the map,
then the actual distance between
them (in kilometers) is ...

2555769 1:30000 &)e05% Aosbwdss.
BrGHE° Toth Beseasioon By SrTHD
4 0.2, @os e DG Ve SGHes
(§5s§).:ea§5s)

(L. 3.2
(2) 120
(3) 0.12

(4) 12

The number of lines of symmetry
of an isosceles triangle is ...

&8 SCwETe (Ogbmnoons AckbNe
P50 Opo Sogg

(1) ~Z
(2) 1
(3) 4

(4) 3

93.

94.

[23]

If the digit in unit’s place of a
number is 7, then the digit in the
unit’s place of its cube is ...

o8 Sops a8t S 7 od, & o
P0E® w5 TS0 Dol wos

(1)
(2)
(3)
(4)

W = © 9

The smallest rational number in

4 5 o =8

—57 —E’ _B7_—. ls -----

9 12 183
@568%03: K’:oa:,s

3
4 5 T2
3

(1) s
9

2 -2
: 12

2

(3) —=

(4) 27
18

PT.O.



95. The number of distinct three digit

96.

TET-111-EM/TM

numbers that can be formed by
using the digits 7 » 2 and 3 without
repeating the digits, is .....

7, 2, 3 eo30 SORDABFACD), woIen
DT Bo e Dotieey, Trabife
Di):éa QTS 5oaase> ‘éoaos

(1) 6
(2) 4
(3) 3
(4) 5

From a rope of length 11 m, if two

3 3
pieces of lengths 23 m and 3E m
are cut, then the remaining length
of the rope (in meters) is ..

11 . 35y Ko oy &S Sood

3 3
2g . 35800 3ﬁ . L5 Ko Boss

SOHOW KGO A (Eess FED
(Doeotss®)

9
(1) 5ﬁ

9
42
(2) 10

1
(3) 516

1
7 i)
(4) 10

BOOKLET

97. Theareaofa square field is 36 m?.

98.

[24]

If a bird flies at a speed of

30v2 m/min along the diagonal
line, then the time (in seconds)

required for it to cross the field
1855

&8 DRUPSTE e Fregioo 36 5.5,

&8 33 QX2 30V2 Boesy Srmsass’
& DB SR Moo Al S Iowxd
AMOERDH S, es PP T, e LS
e SRoAED (B8egs?)

(1) 8
(2) 5
3) 11

(4) 12

The class mark of the class (90-120)
185

(90 - 120) s&1® @y, e S0y,
(1) 115
(2) 120
(3) 105

(4) 90
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99. A rectangular block of dimensions 101. If the simple interest is 121% per
16 x10x 8 units is painted. If it is 2
cut into cubes of dimensions 1 x 1 x 1 annum, then the number of years
units, then the number of cubes .inwhichacgrtain amount of money
which are not painted at all, is ... isdoubled, is .....
16x10x8 asortiess Fowes foeX 8y ey 122 % PSS wbe oy,
POTS QS0% Solt> Saesdiss. oo & - - §3s
1x1x%1 Worde  Sfodey Xe e °é:\”§m"6¢§°® SRS S
SROPOT O S5Q00um, wdes Tois TR0 SostTred’
301132362.0 SR0RITPE éoa:s (1) 8
(1) 812 2) 7%
(2) 796 3) 9
(3) 945 1
Bt
(4) 672 (4) 2
2 o : 102. In a plane, if three or more lines
100. By oversight, a boy d1v1dgdacertam intersect at the same point, then
number by 75 and obtained 72 as they are called .
both quotient and remainder: If had i
he divided with correct number, (1) Intersecting lines.
namely 72, then the remainder (2) Concurrent lines.
Is... (3) Parallel lines.
&5 e, o Boggo Poesm 75 (4) Perpendicular lines.
& PRou, GBI Lripese Bodai: &8 Beod® s o SOBETH Jiyy
0 Bl 72 H9569. ek 18 By 5 Cpen 18 Doty S5 Podooin,
RO Sops 72 & graod Yodl, v, & Open
Yo Pt (1) oy Spen
1) o (2) 0058w
(2) 2 i (3)  SHrons Spen
3) 3 (4) oowdpes

4. 1

TET.111. M "I'Za



103.

104.

The angle which is not possible to
construct, using a ruler and
compass is

T3 800 TS, Hyew maBcn HBBHI
BIES SBATACD ABeIBD Sens

(1)

(2)

(3)

(4) 30°

The average of first six composite
numbers is

W03 esto Sooioy ‘éoa:se: PN ...

5
(1) 88

(2) 9

(3)

TET-111-EM/T\

B 2 e

106.

BOOKLET

105. If 1.9999 ... is expressed in the form

of g, where p and g are integers

and q # 0, then it is

& P, q 20 P Sogepnr,

q#0 e:ad&’seawg g ErHos® eplovirph

(2 ST
(1) =
10
1999
(2 1000
3) 2
(4) z
9
A boy observed, a pillar and a tree,

in his school playground. The pillar
of height 8 m casts a shadow of
length 10 m. At the same instance,
the tree casts a shadow of length
40 m, then the height of the tree (in
meters) is

el wPenld, B9 I eses Posws,
&8 LoPIDY $o0oo o DN
B, Boginmn 28y 8 B, e o
& e 10 Do, DB, B Bkocwes®
&3 D633 & e 40 B, es005 es Dex
Q8 (e’

(1) 50

(2) 40

(3) 36

(4) 32

-----



107. If Siri sold a D.VD. player for ¥ 2800
at a gain of 12%, then the price
at which she bought it (in
rupees) is .....

©0 25 D.VD. $a05is T 2800 ox
Lo 12% DL DN08. ©00S e
& D.VD. 30985 §% 30 (@S apedd)

(1) 2300
(2) 2600
(3) 2500

(4) 2400

108. If the complement of an angle is (1) 10,24
25% of its supplement, then its (2) 24,35
measureis..... (3) 10’ 35
4) 21,24
28 S0 Gk, Y Seasoo, o0 o
RO Sea058° 25% 5%, &5 Seasioo
111. The value of
S0
(427 x4.27) - (351 x 3.51)
(1) 90° 427+351 ~aity
(427x4.27)- (351 351)
2) 60° s
( 427+351 e
(3) 75° (1) 0.78 Yy
(2) 17.78 a N
(4) 45° T
3) 7.6 &
(4) 0.76
TET-111-EM/TM [27] PT.O.
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109. If the total surface area of acubeis
96 cm?, then the volume of the cube
(inem?)is .....
a5 PO RERONSLT ST 96 5.
0.0, @oS oo PODROEFe S0
(B0, Do.2o. o)

(1) 64

(2) 216

(3) 8 L
4) 27 D%

110. Out of the given numbers 10,21, 35
and 24, the pair of co-primes s .....

w0 :éoaagw 10, 21, 35 S080% 24
0% VNS BFTrosre s
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114. In a triangle, if one angle is equal
to the sum of the other two distinct
angles, then the triangle is .....

112. The least number which when
divided by 25, 40 and 60 leaves a
remainder 7 in each case, is ....

25, 40 S000k0 60 &3 PR (HOF

(1) Equilateral triangle
T 7 %0 cos 8 iy Sowg 3 3

(1) 607 (2) Obtuse angled triangle
(2) "507 (3) Right-angled triangle
(3) 1207

(4) Isosceles triangle
(4) 1007

2.5 @0z’ 2.5 SPeatns, DoAdS Bots

113. A rope of length 32 cm is given. Py Fero IS BHFWED e0d
Then the number of different

3 ] & (DR
rectangles with integral
measurements that can be formed
with it, is ... (1) SRowiro @goem

32 0.2, P& Ho (@t o dns. (2) B8 S Beies
0 VBB TACD Fowre Stoden FONe]
‘éoa:se:d%ge.aeog A TS Ko, REALRY (3)
BgsBtRre Sogg
(1) 15 (4) [BoBFTv (©gheno
(2) 8
3) 17

(4) 32

oot (Do

TFTL111.EFEM/T1 ST
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MATHEMATICS METHODOLOGY

115. Which of the following types of

116.

TET-111-EM/TM

test items is suitable to test the

‘specification’ namely, ‘establishes

the relationships’ ?

(1) ‘Analogy type’ of test item.

(2)  “True or False’ type of test item.

(3)  ‘Multiple choice’ test item.

(4) ‘Fill in the blanks’ type of
test item.

T3 (308 5oy Sr>S'  Da

‘Sowogren  Doveas BPES e

SRS’ $830ummos SROEFORHA 2

(1) bégwse QEPoF B

(2) ‘:36‘3268‘39’ VELSE EFBo

3) VIS IS0 St

(4)  Hrvses AERF EFBe

In first half of the micro teaching
cycle, first three stages lie in the
order shown below,
(1) Plan — Teach— Reteach.
(2) Plan —» Replan— Reteach.
(3) Plan — Replan

— Reinforcement.
(4) Plan — Teach

— Reinforcement.
RELEES BE0E®, Boosses Shod® &od
DFES SFes B Bo& Srveas
ESo0s® SITh SO0
(1) 585 555 — S — Hyse 5%,
(2) IGE 599 o R DEE FIS

- J2 aS'sc.‘,st.
Q) &5 555 - Doz IEE B9
— 300%,

(4) 3&% 555 - 5%5 > BODR.

[29]

117. Observe the following sentences

in the order they appear.
“If T don’t born today, you don’t
born tomorrow.

Therefore You don’t born

tomorrow.”

The phrase that logically fits in,
18 ... 2%

(1)  You born today.

(2) You don’t born today.

(3) Iborn today.

(4) Idon’t born today:.

s (808 TSUONS, @ JRI0EN
E906% 5650050a.

VS T e BQEUHE, Ty Oy
EH0UY).

Loy T DY 2089,
Q3E 0, ¥orr $oGSs TS0
(D) 29 &8 mdonmmy),
@) 9 &:8' wdoudes,
3) I 56 wdom.
@) % 58 wdoudes,

PT.O.
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118. ‘Education is not that which is

taught by a teacher; It is a natural
process; It is acquired from the
experiences provided by the
environment.’

The Educationist, who
conceived this idea is ....
(1) Pestology
(2) Poulya
(3) Montissori
(4) Froebel
D5 SIO SPGRgEI0E SRODE T3
of’s I BEoN; 08 HOdoren
50Row eRgare He AteBood.!

Ts FFHRR0 DRI @S
(1) o

(2) ey
(8) HroedFHO
4) @aé

119. Which of the following ‘padas’ of

Aryabhateeya  contains the
descriptions of measurement of
time and planetary motion.

(1) Gola Gamana pada

(2) Kaala pada

(3) Geethika pada

(4) Gola Gathi pada

Se @00 FrE’ D8, ebgidanod’
SPCRTFTR, ([REE0e 0odd RPSes
5O &oenood?

(1) Romsos Fso

(2) s >&o

(3) 45 \SS® 5"(50

(4) Rore >se

[30]
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120. ‘The topics that are to be included

in Mathematics syllabi, should not
only bear relationship with life,
but should also help the students
to settle in life.’

Which of the following
principles convey the same
meaning ?

(1) Preparatory principle and
cultural principle.

(2) Preparatory principle and
correlational principle.

(3) Preparatory principle and
disciplinary principle.

(4) Correlational principle and
disciplinary principle.

KRS (PerdsS® JowE  wowren,

20808 Svowolic 5OR dodiewo

o, #dBoS’ TP VEBErIS

5r@® S5009.!
5: (308 WrES D8 B

DRI, DOAHEI0?

(1) Dpes  SPEDee S0k
O3, YO JFBDH0.

(2) [y BrER Hoddve
Setoned BrHe.

(3) JTyrE  JEBSo Ho0din
E0BYes BTBRo0.

(4) [TPVowod JFEBWH  Ho0ow
ES03%es BREH.



121. The disease, caused due to protein

122,

TET-111-EM/TM

PART - V

BOOKLET

ENVIRONMENTAL STUDIES

deficiency is ...
(1) Obesity

(2) Beri Beri

(3) Kwashiorkar
(4) Marasmus

>S50 %o 5o SOA D ...
(1
(2)
(3)
(4)

STOTALEe
2 B
SR, &

Hunting and selling wild animals

Is a crime according to the
schedule-I of ...

(1) Wildlife Protection Act, 1971
(2) Wildlife Protection Act, 1991
(3) Wildlife Protection Act, 1981
(4)  Wildlife Protection Act, 1961
8% REFeo-1  BEe e
BOBOROR Jerisdio, JFomosto
Soe.
(1)
(2)
(3)
(4)

Dgred 20TFes Bexe, 1971
Sglered RISTei.n L0, 1991
Dglere3 0T5es Yeo, 1981
Dgered L00Ees Yo, 1961

123. The correct statement in the

124,

[31]

following is ....

(1) Both male and female tailor
birds build nest.

(2) Tailor bird does not build
nest.

(3) Male tailor bird builds nest.

(4) Female tailor bird builds
nest.

$00d8° .

(1) Rermes> 906° eses, oK Bosm
5FG 170 SEora.

AEMES 33 K Sexdeso.
ABMES D90 Sokd SmESs
KP&0 S&erac.

ABTES JHS B SmEpds
e SEora,

(2)
(3)

(4)

The animal, which is not in the

list of the population that is
decreasing .....

(1) Kalivi kodi

(2) Sheep

(3) Tiger

(4) Battameka Pakshj

& Sy é‘f}bséob& B DS’
35 -

(1) s8as%a

(2) p

(3) {d

(4) ey 53



125.

126.

TET-111-EM/TM

Sultan Mohd. of Ghazni, who

destroyed the Somanath temple
was a contemporary of ....

(1) Srimara Sri Vallabha.
(2) Raja Raja Deva.

(3) Chola Rajendra II.
(4) Chola Rajendra I.

PooE DTOAITR oo Bad e
BiRnd 20 BRosKs.

(1)
(2)
(3)
(4)

BRFE B
CRORDE
Fs oEes 11
5 oBes 1

The state that lies on the west
side to Telangana state is ....

(1) Madhya Pradesh

(2) Karnataka

(3) Tamil Nadu

(4) Chhattisgarh

BooTrer ThagRd BES X &)

(1)
(2)
(3)
(4)

127. The founder of Adi

128.

[32]

BOOKLET

Hindu
Jatiyonnati Sabha in Telangana
was ....

(1)
(2)
3)
(4)
Boomerd® @8 sy dETD
Bg0 JHODITES.

(1)
(2)
3

(4)

Arigey Ramaswamy
Jyothiba Phule
Bhagya Reddy Verma

Narayana Guru

&0R C‘é&«a“so’b
&0 Yo

TPOPOIER o0

Telangana State Bird is ....

(1)

(2)
(3)
(4)

Doomrer c‘gxé ......

Parrot

Sparrow
Dove
Pala Pitta

(1)
(2)
(3)
(4)

(6L CMIIUI



129. The first floor of Qutub-minar

130.

TET-111-EM/TM

was built by ...
(1) Babar

(2)  Qutubuddin Aibak
(3) Allauddin
(4) Akbar
08585078
NSRS,

(1)
(2)
(3)
(4)

0E5¢3 VoBID
b

&éoaoés oes

eas:éés

56

The river that flows through
desert Sahara is ..

(1)
(2)
(3)
(4)
RO AT Moo B5ined 56

Congo river
Niger river
Nile river

Volta river

(1) =offsa
(2) =628
(3) Bewso

@) Fe o

BOOKLET

131. The Satavahana Dynasty was

132.

[33]

founded by ...
(1) Sripulomavi

(2) Kanishka

(3)  Srimukha

(4) Yagnasri Satakarni

TOTTS S0 3@%&:&; ......
20657

5:0’{.\:&63)

(1)
(2)
(3)
(4)

B0

otbg@ THEEY

The Kings Reservoir “Hauz-I-
Sultani” was built by ....

(1) Ibrahim

(2) Allauddin
(3) Shah Jahan
(4) TIltutmish

OCemd movdaioe GRE ~3-0Pd

PTO



133.

134.
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This is not one among the 4 R’s

referred to reduce pollution or to
save environment.

(1) Recover

(2) Repair

(3) Reduce

(4) Reuse

Treokgdy Bhowowks Bor BTESEPY
S0TZovsetd élé-%’obaa&:f) 4 R o8
8.

(1) SBA Doeyes Iaoso
(2) 056 Davato
(3) ®hovke

(4) HPVOREH

The largest organ in the human

(2) Stomach

(3) Brain

(4) Skin

S0 38508° ©9O DY LHOLVI ......
(1) &s20880e0

(2) &pwohe

(3) =&

(}9 Qe
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135. This animal lives in burrows.

(1) Monkey
(2) Fox

(3) Rabbit
(4) Bear

aS”Go:Soé: DHVoD WOBOD) ...
1) s

(2) =%,

(3) Hocteo

?) RISCHCPITS

136. These can’t play role in the

depletion of Ozone layer.
(1) Air conditioners
(2) Aerosols

(3) Air coolers

(4) Refrigerators

£.5%5 55> e DokEed® S BID
(1) doxb Sodspt

(2) dowtFé,

(3) oxd Krety

/(4) Opeoety

137. The quantity of the fresh water in

the total water available on the
earth is ....

PP &5 A3 Doogos® Hedde



138. Komaram Bheem was killed at ...

(1)
(2)
(3)
(4)

Pochera
Babejhari
Jodeghat

Keslapur

§%000 Do Soneds Fodo

(1) 35

(2) =@ups
@) £hprs
(4) 38

139. This city is called

lakes ....
(1)
(2)
(3)
(4)

Nagpur

Jodhpur

Udaipur

Jaipur

SORYe SHU Dessnd SKve

(1) ':s»mg»s

(2) &£%8srE

y:

(4)
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the city of

140.

141.
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This magazine was edited
Vaddiraju brothers in Waranga

(1)
(2)
(3)
(4)
DG WSBoes 0oLy ol $&:
H(O
(1)
(2)
(3)

(4)

Golconda patrika
Rayyat

Tenugu patrika
Nilagiri patrika

RS0 v
SR
GRS ST
POAS B

Throughout the world, the da
and night are equal in size on thij;
day, is ...

(1)
(2)
(3) September 21

(4) September 22

@kon TPgROT  Difens O SErHom
&0 G
(1)
(2)

(3)

September 23
September 24

R:?goeoCS:-ZB
?o;_goeaéo-24
dRow-21

?o'a’goeado—22



142. Sequential order to show the path

of food in the digestive system
3N e

(1) Mouth— Small intestine —
Oesophagous — Stomach —
Large intestine.

(2) Mouth — Oesophagous —
Small intestine — Large
intestine — Stomach.

(3) Mouth — Oesophagous —
Stomach — Small intestine
— Large intestine.

(4) Mouth — Oesophagous —
Small intestine — Stomach
— Large intestine.

g A S,
25 ¥55pd® eistto Iy Wod 30

(1) o > @i — 8 s
— dorcioo — DE(EIO

(2) Tt o S5 TWE > Ay
— D@ > SgrEcice

@ Teio o e85 s — Srsoio
- DRI —> DEEK

(4) Foo o eIt TInE - DY

—> SoPose — SEH
[ Q

TET-111-EM/TM

BOOKLET @

143. The first hour immediately after
an accident is known as .....

(1) Silver hour

(2) Important hour
(3) Diamond hour
(4) Golden hour

BorSo =BAY Down Dokl Hoewo
JT° DSOPO.

(1) 30055 Q‘J:)S
(2) ZoFToes wd
(3) gwook enbd

(/) ﬁ‘gs e95b

144. The nutrients that give energy
are ...

(1) Carbohydrates

)
/(Z) Proteins

(4) Minerals

Vitamins

¥3D gy FRE STT ...
(1) Bodsargres

(2) Desdodew

(8) SrodHBoee

(4) pIzVILTSS
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METHODOLOGY

145. “Students will be able to analyse | 147. Which one of the following is nc
the given problem.” - This attainable by the end of lesson i
objective belongs to following a classroom ?
domain. ]
(1) Psychomotor domain (1) Enab.hng student to dra:
(2) Creative domain the diagram of flower.
(3) Cognitive domain 1
AP tive dofssin (2) Enabling student : t

e - demonstrate an experimen
DoNTReS 32 Wmaigss iy in classroom by himself.
Soblienet - o S oy © B ¥ ;
o3 Dodsd. (3) Developing scientifi
(1) Soess DOTEE Yolo attitude among students.
Qe & Solf
e ik B (4) Enabling student te
(3)  eparsys oo |
LR i understand the concept o
water cycle.

146. “After learning about nutritional

values of various food items,
students change their food
habits.” - This represents the
following value.

B (308 IS DB .5 551D KaS® S
™0 LON BTG Bovve MBouBEes.

(1) =¥ Hye Q%) TRoe

(1) Creative value STstpes Aver Daoeso.

(2) Discipline value

(3) “Sogial veliic (2) 25 Sarrcte A ssose: o
(4) Cultural value SRS NHOSE® Badoder Sawie.
G e voored® sod

DWHO  NoBod  DInS;  sovs @)  Jorsred® Jepds Ppo o8
aa‘gégw T & FED LOTRIS Vo9&,

SFERS 0P - &g TE T Jeowso

BPO808. (4) modEo o3 russs N

(1) RDETGE Jews
) ENer Jeod

(8) FurEx Jeod

(4) o), B dess

PRI DeoSwor Sako.
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148. Asking probing questions at the

beginning of lesson is intended ....

(1) to make the student think
critically about the topic to

be taught.
(2)

to confuse the student.

(3) to recall the concepts taught

yesterday.
(4) to test the previous
knowledge of student.

FEo Fodien PDREIS Hovodd &R

Foros o 8 5%

ééo%’oféza&mo».
/(1)

(2)

D5y ecdo 00D PR
DB es6° Do B3,

DG KoGER'FRS K0
DoHeERS.

(3) Hootobe SO0 PHHORS

gl SHHTHERI.

(4) D WGy T SOFenEA.

149.

150.
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The following test is used to find
the learning difficulty of a student
in a particular subject.

(1) Unit test

(2) Placement test

(3) Summative test

(4) Diagnostic test

28 Dicoone IpSWEes” Jovdd
‘giges RO FNEYIEIL B
RER ;o

(1)
(2)

(3)

(4}
Self learning is
achieved through ....

(1)
(2)

OB ISR
PRI DA
@ (=)

[VOBOS I5A
es‘:aac;csn IS8

effectively

Panel discussion.

Doing an experiment in
laboratory.

Demonstration.

Listening lecture.

(3)
(4)
Do egigive B T Bernhotor
FQowetioBod.

(1) 226 vy
(2) HRFHTS BT Woko
}’5) PG

(4) &BTgoo AL
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